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(AHP)
Ui

A =(ay, &, a, a as, a5) =(0.10, 0.20, 0.20,

6
0.30,0.10, 0.10), O<a<l, Y a=l
i=1

Ujj A=(ay, ap,
i
’ aipr ’ aij) ’ 0<aip<1r Z aip:]-!
p=1
i=1,2,3,4,5,6 j=3,3,4,4,4,4

A;=(0.45,0.30, 0.25) ; A, =(0.55,
0.35,0.10); A; =(0.33,0.36,0.24,0.07) ; A, =
(0.30, 0.20, 0.25, 0.25) ; As=(0.25, 0.25, 0.20,
0.30) ; A=(0.14,0.31,0.21, 0.34)

r=5
5
(s=1)
Do:
U11 d(l?l d(l?z d(ls}r
U12 d(lsgl d(f%z d(ls%r
D(S):
U21 d(z?l d(ZsIZ d(zsir
LI64 d(s?l d(ssgz dE(SSZr
2.2
V, 5
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3.0 3.0 3.0 35 3.0 3.0 40 35 3.0 35 30
20 25 2.0 3.0 25 25 3.0 40 3.0 3.0 25
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1 &
[0,1,2], f,
2 (1=2), ®:
[0,2, 4], f,
3 (1=3), ®s
[0, 3, 6], f;
4 (1=4), ®s
[0,4,8], f,
5 (1=5), ®:s
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Ujj s(s=1)
I nil

r 5
nf=> f(d), nP=Y n§l
k=1 =1

U, |

1=1, Uy =F; (Aya0) 1 (010) +F1 (A11a) 1 (diaa) +F2
(dys)=F1(1.0)+f,(1.5)+f,(2.0)+f,(1.5)+f, (1.0)=( 2-
1.0) +(2- 1.5)+(2- 2.0)+(2- 1.5)+(2- 1.0)=4

1=2, Uy, =F,(1.0)+1,(1.5)+1,(2.0) +f,(1.5) +f;
(1.0)=(1.0+1.5+2.0+1.5+1.0) /2=3.5

1=3, Us=f(1.0) +f;(1.5)+£:(2.0) +; (1.5) +f;
(1.0)=(1.0+1.5+2.0+1.5+1.0) /3=2.33

1=4, uy,=f,(1.0)+f,(1.5)+f,(2.0) +f, (1.5) +f,
(1.0)=(1.0+1.5+2.0+1.5+1.0) /4=1.75

1=5, uys=f5(1.0)+f;(1.5)+f;(2.0) +f; (1.5) +f5
(1.0)=(1.0+1.5+2.0+1.5+1.0) /5=1.4
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i, ri=nfing s
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S U Ujj
RO:RO=(r?, rd,
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Sr=(rs Mas Fasss Taags Pas)=(Nan, Niss Nugs,
N, Nias)/N;;=(0.308, 0.270,0.180,0.135,0.108)
, T2y T13y To1, T2, T3y Fa1s Tay Ty
F3a, Tats Vag, Vazy Vass To1y Uy Fsz Fsar For, Teor Tosy Fea
Uy, Uy, Us, Uy, U,
Iy 0.308 0.270 0.180 0.135 0.108
R=|ry, F|[ 0.000 0.109 0.363 0.294 0.235
I3 0.000 0.277 0.308 0.231 0.188
P 0.000 0.299 0.299 0.224 0.179
R=| r» F|[ 0.000 0.033 0.418 0.297 0.251
Is 0.000 0.241 0309 0.250 0.200
£ 0.000 0.215 0.334 0.251 0.200
R= I : 0.000 0.111 0.321 0.315 0.252
Ig 0.000 0.020 0.309 0.373 0.298
Iy 0.000 0.235 0.325 0.244 0.195
Iy 0.000 0.180 0.335 0.269 0.216
R I i 0.000 0.299 0.299 0.224 0.179
I 0.000 0.321 0.289 0.217 0.173
Fs 0.000 0.200 0.327 0.263 0.211
I51 0.121 0.343 0.228 0.171 0.137
R ) L 0.000 0.256 0.317 0.238 0.190
I3 0.079 0.335 0.250 0.187 0.150
s 0.000 0.256 0.317 0.238 0.190
It 0.438 0.219 0.146 0.109 0.088
R= e || 0.000 0.120 0.327 0.263 0.211
” les ] 0.342 0.256 0.171 0.128 0.103
s 0.000 0.131 0.312 0.309 0.247
25
s(s=1)
U, B, :BP=
i
A RP=(b?, b, b8, b?, bY), b= aprf,
p=1
=1, .5 , S Ui
R®:
RO=(E0, B, BO=(ke s
Ui
5
BO=A RY=(, bf, b, b, b¥) Db 1
11
5
. 2 b=l
=1
B,=A:; R;=(0.1386,0.2235,0.2669,0.2067,
0.1661) ;
B,=A; R,=(0.0000,0.2001,0.3417,0.2522,
0.2063) ;
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Bs=A; R,=(0.0000,0.1322,0.3227,0.3028,
0.2419);

B,=A:; R,=(0.0000,0.2441,0.3143,0.2455,
0.1966) ;

Bs=A; Rs=(0.0461,0.2936,0.2814,0.2111,
0.1688);

B=As Rs=(0.1331,0.1662,0.2638,0.2287,
0.1833)

' R:R=
(By, Bz, By, By, Bs, By)', BO=
A R=(0.0318, 0.2080, 0.3084,0.2493,0.2004)
S B
) ’ .
C=(1,2,3,4,
5), Q(S):B(S) (ol Q S
Q=
B C'=3.3722 ’
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